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HELNSHNATURUUENYINYE 1589 Wsiluan

1. @ufl duniswisiluan

2. @il 2 ws1lua y = ax2

3. 1aufl 3 waslualy = ax2 + k

4. 1aud 4 wisiluan y = alx-h)2

5. saufi 5 wisiluan y = abeh)? + k

6. Laufl 6 wisalualy = ax2 + bx + ¢

7. 1auil 7 39w sluaIMELaunsy y=ax+h

8. Lauf 8 mMsuwnlaneveynungatumsilual

{jcomments on}

1/1


images/stories/math/parabola%201.pdf
images/stories/math/parabola%202.pdf
images/stories/math/parabola%203.pdf
images/stories/math/parabola%204.pdf
images/stories/math/parabola%205.pdf
images/stories/math/parabola%206.pdf
images/stories/math/parabola%207.pdf
images/stories/math/parabola%208.pdf

